12@0796 (K12a0796)

Linearized knot diagam

L s R

§ 11 12 1 10 9 2 7 6 4 5

w.n_

Solving Sequence

2’94’8*’34’14’7"10"6"11"44’5"1}>C43611
Cg C C12

A knot diagranﬂ Cc2 (1 Cg C¢ Cio C3 Cs

Ideals for irreducible component#ﬂ)f Xpar

I =W +u® 4+ —u? - 1)

* 1 irreducible components of dim¢ = 0, with total 28 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATsTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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LIF=(u®4+u"+... —u?-1)

(i) Arc colorings

w- (1)

1
ag = 0

1
ag = U2

u
a3 = \ud+u
u3

a1 = \uP+ud+u

uw?+1
a7 = u2

ut+u+1
a0 = U4

w+ut+2u%+1
ag = ’U,6 + u2

w +ul +3ut+2u+1
a’ll = US + 2u4

—ul? — 2017 — 8yl — 12413 — 21wt — 2200 — 2007 — 12u® — 5uB
a4 = —ul? — 17 — 6wt — 5t — 11wt — 7 —6u” — 24P +ud +u

—ult — 12 — 410 — 38 — 208+ 202+ 1

a5 = \ —y!6 — 2y — 6u!? — 8ul0 — 10u® — 6u’ — 4u?

—u? —2u + . +6ud+u
a2 =\ —u?" —3uP 4+ +ud+u

(ii) Obstruction class = —1

(iii) Cusp Shapes = —4u?" — 8u?® + 4u?* — 44u*® + 8u?? — T2u?! + 40u?° — 184u'® +
60u'® — 240017 + 14006 — 364u® + 148u' — 360u’3 + 200u'? — 336wt + 128410 —
228u? + 96u® — 108u” + 20u’ — 32u® + 4u® — 1202 + 12u — 10



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossin
Yy

c1,Cg, C

1, Ce, C7 w® 502 L 2u 1

Cg, C10

C2,C8 T R T |
C3,C4,C5 u28+u27+_.__4u_1

C11,C12




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,Cg,C7 y28+37y27+_34y+1
Cg, C10
Ca, 8 Yy 457 2y + 1
€3,C4,C5 y?® =352 4+ 42y +1
C11,C12




Solutions to I}

(vi) Complex Volumes and Cusp Shapes

V=1(vol + v/=1C)

Cusp shape

u= 0.653471 4 0.7782021

3.53035 + 2.441571

—1.95206 — 4.136561

u= 0.653471 — 0.7782021

3.53035 — 2.441571

—1.95206 + 4.136561

u = —0.675349 4 0.6766581

1.40633 + 0.498851

—6.53440 — 1.410821

u = —0.675349 — 0.6766581

1.40633 — 0.498851

—6.53440 + 1.410821

u=0.733930 + 0.5997611

—6.94317 — 1.864011

—7.90882 + 0.195241

u= 0.733930 — 0.5997611

—6.94317 4 1.864011

—7.90882 — 0.195241

u = —0.619172 + 0.8587331

0.82022 — 5.337991

—8.56972 + 7.974691

u = —0.619172 — 0.8587331

0.82022 + 5.337991

—8.56972 — 7.974691

u = —0.204914 + 0.9104581

—12.53370 — 2.510441

—16.1255 + 4.00091

u = —0.204914 — 0.9104581

—12.53370 4 2.510441

—16.1255 — 4.00091

u= 0.603718 4 0.9192861

—7.98654 + 6.812861

—10.46299 — 6.277421

u= 0.603718 — 0.9192861

—7.98654 — 6.812861

—10.46299 + 6.277421

u = 0.205807 + 0.8160831

—3.50231 + 2.015391

—16.4015 — 5.82511

u = 0.205807 — 0.8160831

—3.50231 — 2.015391

—16.4015 + 5.82511

u = —0.930865 + 0.9096521

2.22097 + 2.667581

—7.83362 — 0.342691

u = —0.930865 — 0.9096521

2.22097 — 2.667581

—7.83362 + 0.342691

u=0.922794 4+ 0.9259071

10.83490 — 0.433431

—6.08489 + 1.466581

uw=0.922794 — 0.9259071

10.83490 +- 0.433431

—6.08489 — 1.466581

u = —0.916621 4 0.9422271

13.36070 — 3.373311

—2.23945 + 2.358711

u = —0.916621 — 0.9422271

13.36070 + 3.373311

—2.23945 — 2.358711

u = 0.906845 4+ 0.9560071

10.73640 4 7.167641

—6.31746 — 6.036071

u= 0.906845 — 0.9560071

10.73640 — 7.167641

—6.31746 + 6.036071

u = —0.898590 + 0.9700441

2.02326 — 9.398891

—8.16467 + 4.898601

u = —0.898590 — 0.9700441

2.02326 +9.398891

—8.16467 — 4.898601

u = —0.605156

—9.60647

—7.91280

u = —0.191210 + 0.5693181

—0.320623 — 0.8070471

—7.76798 + 8.330071

u = —0.191210 — 0.5693181

—0.320623 + 0.8070471

—7.76798 — 8.330071

u = 0.425468

—1.23780

—17.36100




II. u-Polynomials

Crossings u-Polynomials at each crossing
€1,€6,C
1,C6,C7 u28_|_5u27+.”+2u+1
€9, C10
Ca2,C8 u?® — w4 -1
€3,C4,Cs
3,04, C5 u28+u27_~_”._4u_1
C11, €12




ITI1. Riley Polynomials

Crossings Riley Polynomials at each crossing
€1, C6, C7 yB 437y 4 =34y + 1
€9, C10
C2,C8 Yy 45T+ 2y + 1
€3,C4,C5 y® =35y T+ 42y 41
C11, €12




